Installation manual

AS-182-190619

N\

TRIBUS TriflexAlIR L&

INNOVATIVE MOBILITY



2

Item | Part number Description Qty
1 V-0000553031 | TriflexAIR fixed seat without support 1
2 0000553412 Leg for TriflexAlIR seat 1
3 0000553201 Mounting block fixed seat TriflexAIR 1
4 0000559151 Threaded bush chair base front 2
5 0000152171 DIN912 M10x30 Hexagon socket head cap screw (12.9) 2
6 0000152172 DIN912 M10x55 Hexagon socket head cap screw (12.9) 2
7 0000152104 DIN985 M10 Prevailing torque hexagon nut 2
38 0000151111 DIN9021 M10x30 Plain washer 7
9 0000151141 DIN7991 M10x40 Countersunk head screw black (10.9) 4
10 0000152122 DIN6926 M10 Prevailing torque hexagon nut with flange (8) | 4

TRIB

AS-182-190619

Us

INNOVATIVE MOBILITY

@?&@@“

W Q
[N\
[N\




Loctite 243 (4x)

LeCTITE
243

T ——

/.-\ AS-182-190619

TRIBUS

INNOVATIVE MOBILITY




AS-182-190619

INNOVATIVE MOBILITY




Item | Part number | Description Qty
5 0000152171 DIN912 M10x30 Inbus bzk-bout (12.9) | 2
6 0000152172 DIN912 M10x55 Inbus bzk-bout (12.9) | 2

TRIBUS

INNOVATIVE MOBILITY

AS-182-190619




AS-182-190619

TRIBUS

INNOVATIVE MOBILITY




/\ AS-182-190619

TRIBUS

INNOVATIVE MOBILITY




40 Nm £10% (4x)

AS-182-190619

TRIBUS

INNOVATIVE MOBILITY




T RIBUS

INNOVATIVE MOBILITY

Creators of innovative mobility

All rights reserved. All information may be subject to changes and typographical errors.

Proostwetering 71 The Netherlands info@tribus-group.com
3543AC UTRECHT +31 30 669 50 20 www.tribus-group.com



